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[ o wosned: 100
[ Max. Marks : 100

Qn. Ans. Marks

Value Points
Nos. Key allotted
I. L el 8x1=8

Erdb (S 6es2 L ox+ 4y—12=0slx + 2y—4 =0 b

a) L B) L&
(€ bEF” D) L0t
Ans. :
B) | LES 1

| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 2 |CCE PF & PR/NSR & NSPR |
Qn. Ans. Marks
Value Points
Nos. Key allotted
5 €x (O/rD0 S 76 8,5,2,- 1, ... (AP) s>
(A) -3 (B) -2
(C) 3 (D) 8.
Ans. :
@ | -3 1
3. Lfn (Jéd/.l,v)yﬂad/QxQ = x—7lls
A) 2x2 - x = =7 B) 2x%2+x-7=0
(C) 2x%2 -x+7 =0 (D) 2x°>+x+7 =0.
Ans. :
2
(C) 2x°“ —x+7=0 1
4. S Scos (90° - 30°)
1
@) -1 B 3
(C) O (D) 1.
Ans. :
® | L
2 1
5. Koo bobibP (x, y)Leslas
(A) x> +y° B) x?+y?
© x?-y? D) x*-y>.
Ans. :
(A) x?+y? 1

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 3 81-U
Qn. Ans. Value Point Marks
Nos. Key aie roints allotted
6. gﬂ,ﬂ)ﬂb&J:Jﬁ:@J,ALJV/JWﬂ54.//1)&/:4_//!)
(A) 30° (B) 60°
(C) 90° (D) 180°.
Ans. :
(€) 90° 1
i Enfid QR ) P L F U JS:
N
] h
<>
(A) m (r;+7,)1 B) m (ry-7,)1
1 1
(@] Enh(r12—r22—r1r2) (D) gnh(r12+r22+r1r2)
Ans. :
1 2.2
(D) Enh(r1 +ry 41 r2) .
g gﬂ,}'/f/%/Lbé//;ﬂugmr’
(A) =r? ULEE B) 2nr? ULHE,
(© 3nr? UKHIE, (D) 4nr® ULEIT
Ans. :
(D) 47'[7'2 ugg’d/ 1
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 4 |CCE PF & PR/NSR & NSPR |

13; Value Points al:::::‘: P
II. : LSS udr S osne 8x1=8
9 ?ﬁmfw‘”iu:‘??n (Inconsistent) ﬁfﬁj/iljﬁ{u?l;u&'jd/f‘”
Ans. :
o FSS 1
10. -’&%Culmw'}n‘d’(d/'(u)d/'J @’y gk (AP)wla (L
Ans. :
a,=a+(n-1)d 1
11. -é(yd/&»‘)yﬂod/:«bw&uu
Ans. :
ax® +bx+c=0 1
12, ‘,&gjﬁd/sin 18°
cos 72°
Ans. :
1 1
13. _éz’j,l.vs( (4,3) LI (x—axis)/f—x
Ans. :
3 1
14. _é(}*” (Median) 236 7.5110:2¢4 67 51
Ans. :
6 1

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | S 81-U
Qn. Value Points Marks
Nos. allotted

5. A b EX 5 a5 A SoR) S S 5
Ans. .
et Jawu;&wg@fdﬂpéc‘}ﬁ“{vfuﬁw
-‘Jf @L;JCL?”JUQU»J;(}J]:&] 1
16. =¥ (,@L‘a)JmGKL/ ,f}'” (CSA),}JKi/ 0t S bs ya ‘«.;Juvédﬁu’fd;
vV
[
Sl :
Ans. .
CSA bs/ = mrl sq units 1
111 s SIS U S5 u0 18 x 2 = 36
17. A 2K e 3 LA

2x+y = 8

x —y =1
Ans.

2x+y=8 i (1)
LG xmy=T o, 2) Vs
3x=9
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 6 |CCE PF & PR/NSR & NSPR |
Qn. Value Points Marks
Nos. allotted

9
X=—
3
x=3 Yo
Substitute x = 3 in (1)
23)+y=38 Yy
6+y=8 9
y=8-6
y=2 Yo
18. _é(}**.g/;'éa.u(som term)d(/u’)SOKS, 8, 11, ..... (AP)slI >
Ans.
5,8, 11 coveenn.
Ut a=5,d=8-5=3,n=30 Yy
J//uun KﬁLJL}L?
a,=a+(n-1)d Yo
ayy=5+(30-1)3 Yy
=5+20%x3
=5+ 87
azo= 92 Ya 2
19. | w4203 210, 15, 20, ... AP) 4l Q> < J&1 £ (Blo) Sy e
"
_EE e o Gl b 20081 S L I it
Ans. .
a=10,d=15-10=5, n=20, S,,=?
n
Sn=5[2a+(n—1)d] Yo

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 7 81-U
Qn. Value Points Marks
Nos. allotted

20 .
320=7[2(10)+(20—1)5] o
=10[20+ 19 x 5]
=10[20 +95]
=10x 115 Yo
Sy =1150 Yo
-U:/ lgL)J/JL{,J’ e ) /J)l;':.b] 2
b
n(n+1) .
N ZT Yo
n=20
20(20+1)
2077 o5 72
B 20 x21
2
=10 x 21 Yo
Spo =210 Yo 5
20. -éﬂl‘”/}jg& x2 +5x+2 = Owblrce Je1L (#UJ{/)J}”/B&AM
Ans. .
x2 +5x+2=0
ax? +bx+c=0
a=1,b=5,c=2
—bi\/bQ - 4ac L
x= Yo
2a
2
_ —51452-4(1) (2) v,
2(1)
-5+425-8 ;
= — Yo
2
~5+417
4 ——— 1/2
2 2
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 8 |CCE PF & PR/NSR & NSPR |

Qn. Value Points Marks
Nos. allotted
21 /})«gé&bbf}i-’fé(}’” (Discriminant) 7 6 x2 +4x+4 = Ol G
-éu’*{cfﬁu(
Ans. :
x%+4x+4=0
ax? +bx+c+0
a=1, b=4, c=4
= b%-4ac Yo
= 4%-4(1) (4) &
=16-16
=0 Yo
wtjﬁvjﬁ'g?ﬂjg A 9
22| o L6 B(5,10) 4 A (2,6) b6 xS U1 (bl Qo) Sy s 6 Lo
-z
3
L,&J’}Luu’zfo(s, 6) . P(3, 4)L@LnL/JW1Jr/GK,b}5J’;
Ans. :
A(2,6) B(5,10)
XYy X2 Yy
Jy&&ﬂ#ﬁ dz‘/()c2—xl)2+(y2—yl)2 Yo
- J(5-22+(10-6) 1,
=\/ 32 + 42
= ,/ 9+16
= V25 Vs
d = 5 units Yo 2

¢

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 9 81-U
Qn. Value Points Marks
Nos. allotted

P@B,4) 0(5,6)
X1 Y1 X35 Yo
o X, +X +
JzJLZ’l{,Ea'JJ/} (x,y)=| =—2, Y179 Yo
: 2 2
3+5 4+6
3 N 1/2
2 2
8 10
3 —’ — 1/2
2° 2
P(x,y) =(4,5) ve| 2
23 -gffﬂuﬁwd/2 : 3 cy/g'[;ﬁ;(f}v{FUIO cm
Ans. :
A C B
N\
Aq
Ay
A
—~
Ay
As  Ac:cB=2:3
J (4B 1 Vs
S Sosbo g Y,
JF i s Vs
Slaciiae %
_uf/ lgL;J'/JL{,J’ e )’J;Q’:.‘J
2
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 10 |CCE PF & PR/NSR & NSPR |
Qn. Value Points Marks
Nos. allotted

24. &b 3 Stan o (i) sisin 0 (i) b E 50
A
o
13
12
B 0
B 5 c
Ans. :
, 12
(i) sinf=— 1
13
(i1) tana=— 1
12 2
05, _&E =302 (Secant)ZE s /1 (i) #(Chord) S () A 5
Ans. :
i XY 1
(i) KN 1 2

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 11 81-U

Qn. Value Points Marks
Nos. allotted
26. & (Jﬁdjgy)fmf 1wl St P S (aP) 4l YL
Ans. :
gybgiuﬁfjlﬂf%_ggmdC%?UfUC%ﬁ&fZ%;gw.gﬁuhﬂ7 1
-
y(d/.l,v)ﬂ& a,a+d a+2d, a+3d.............. 1
S lgL;J{JL{,ngénu»ﬁbé} Yd s 9
27. ¥ 60°(%mf):ul}&y‘ugcﬂf’%l‘a@//lutfﬁ}u:(_/lbé/'gﬂ4 cm
Ans. :
S8, ZAOB = 180° - 60° = 120°

P

J:@“Jo/”ui)ﬁ.wzt cm Ya
JEC 8 r1200 v
JEE vt 1) urle 2 1 2
08, EE e (x+3) (x-4)=0=ble
Ans. :

(x+3) (x-4)=0

x+3=0 Yo
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 12 |CCE PF & PR/NSR & NSPR |

. Mark
Qn Value Points arks
Nos. allotted

x=-3 Yo

x-4=0 Yo
Vol 2

20. éf}’”/lﬁd/y;n{,l—fﬁd;wLB (3, 2)4A(3,0)5P(0, y)&S

Ans. :
P(/(Y
A(3,0) B(3,2)
PA = PB VS
VE-02+0-y2=(3-02+(2-y) v,

\/32+y2 = \/32+4+y2—4y

(A8 U
9+y2=9+4+y2 -4y 72
dy=4
4
Y73
y=1 A

30. | 31/ SFCY % AF=2cm 4 BE=2cm AE= 1 cm/'/l-c"_EF || BC «J* A ABC

=y S

&)
\
my

> C

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 13 81-U
Qn. Value Points Marks
Nos. allotted

Ans. :
U~ AABC, EF||BC.
2
AE AF X
EB FC
1 2
- Yo
2 FC
FC=2x2
FC=4cm Yo 2
31.| AB? = 2 AC? fé&.b‘-9/@",;t} gcu:&‘gw(’wfuu,w —LIAABC
-4"_L“y:
A
C B
Ans. :
U« AABC, /C=90°
AB2=AC?+BC? MK F | Vs
AB?=AC?+AC? [ -+ BC=AC]&LE2UIG 1
AB? =2AC? Yy 2
32. —ctsA+ B=90°SZEextdx tan A=cot B S|
Ans. :
tan A=cot B
cot (90°-A)=cot B 1
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 14 |CCE PF & PR/NSR & NSPR |
Qn. Value Points Marks
Nos. allotted

90°-A=B } Yo
L A+B=90° 7 2
AP
tan A= cot B 1
tan A =tan (90° - B)
A=90°-B Yo
A+ B=90° V2 2
33. J’ﬁb_‘a g@« (cuboid) ¥ J.Lj/j}?/(cubes) u,v,-"(u s éjéb4 cm
Ans. :
QU 1=(4+4)
=8 cm
dljf:d/u.y‘(b=4cm Yo
dg,lJth=4cm Yo
(;KVJ( V=Ixbxh Yo
=8x4x4
V=128 cm® Ya 2
34. -ér}‘”,}/l{ (Quadrant)duf,a//bLlﬁ/ijJ 7 cm
AL 22
& - 2
Ans. :
,}/Wé/éo//b
0
= X Tr Yo
360°
90° 22
= X —x 7
360° 7

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 15 81-U

Qn. Value Points Marks
Nos. allotted
2{)01 11
= . ><;22 x /Tx7 1
B360°%,
T,
= —Cm
2
= 385cm? Yo
2
3 U
- ’ 1 2
FKEI LI = X 1
122,
= —X—X
7
1 2211
= —x < Tx T v,
A5 7
77
-—cm?
2
L
- 2
- 38:5 cm? s
Iv. : JSS S Udr S sue 9 x 3 =27
35.| BT 28 Ut 9 144 (DTS KUK Gl (ap)elddLs
Ans. .
n
S, =5 la+1) Yy
9
Sy = 5 la+28]
_ 9 1
144 = = [a+28] /2
16 5
/gf - a+28

| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 16 |CCE PF & PR/NSR & NSPR |

Qn. Value Points Marks
Nos. allotted
32 = a+28
a = 32-28 } Yy
a=4
a, =a+(n-1)d Yo
ag =4+(9-1)d
28 =4+ 8d Yo
24 = 8d
24
d = —
8
d= 3 o 3

36. | o L g K11 nkJ 60 me &L E L U
_E e U L YT e 0J30 m

L
c(jl{lu(ézé_/uéwd/éz..{lfiuﬁurp»&-g_ 13 cm/“,Kw,,u(’l?.,g
_EE e U L e 2T 0 J7 cm

Ans. :
A D
{
xm @_0);1)
C
B (x+30)m

Ui L aBeD

JEEF) AB=xm, oF > BC=(x+30)m, AC=(x+60)m

AC? =AB? + BC? Vs
(x+60)% =x2 +(x+30)> Vs

/{2/+602+2xxx60=/{2/+x2+302+2xxx30

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 17

81-U

Qn.

Nos.

Value Points

Marks
allotted

3600+120x = x2 +900 +60x
x? +900 +60x —3600-120x=0
x% - 60x-2700=0 Vs
x% -90x+30x-2700=0
x(x-90)+30(x-90)=0

(x-90) (x+30)=0 Yo
Xx-90=0 L x+30=0

x=90 | x=-30 Qb dierd) Yo
x=90
AB=x=90m
BC=(x+30)=90+30=120m Vs

L

13 cm
X cm

-

B (x+7)cm

C

éup/ AC=13cm, AB=xcm s BC=(x+7)cm

Ac? =AB? + BC? Ya

132 =x? +(x +7)° Vs
2 2

= 169=x"+x"+49+14x

— 169=2x2+49+14x

— 2x24+49+14x-169=0

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]

[ Turn over



81-U 18 |CCE PF & PR/NSR & NSPR |

Qn. Value Points Marks

Nos. allotted

— 2x2+14x-120=0 A

20, x2 +7x-60=0
= x2+12x-5x-60=0
= x(x+12)-5(x+12)=0

— (x+12)(x-5)=0 Vs
x+12=0o0rx-5=0
x=-12 orx=>5

Qe L) . x=5 Va
%) AB=x=5cm
BC=(x+7) =5+7=12cm Yo 3
37. S
(sir1A+cosecA)2 +(cosA+secA)2 =7+tan? A + cot? A.
¢
g&t’ secO(1-sin@)(secO+tan0)=1.
Ans. :

LHS = (sin A+cosec A) 2 +(COSA+SCCA)2

sin2 A+cos e02A+2sinA.cosecA+cos2 A+sec2 A

+2cos A.sec A 1
= sin? A+cos? A+ cose02A+2/s{§1A. - +sec? A
S
+2cpSA. ! 1
(;o/sA
= 1+(1+cot? A)+2+(1+tan? A)+2
[ - cosec2A=1+cot? A
sec? A=1+tan? A
sin? A+cos? A=1] Yo
= 7+tan® A+cot? A Yo
LHS = RHS 3

¢

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 19 81-U
Qn. Value Points Marks
Nos. allotted

LHS = secO(1-sinf) (secO+tan9)
1 ) 1 sin®
= (1-sin®) + 1
cos O cosO cosH
=(l—sme) ><(1+sm9) v,
cos 6 cos 6
. 2
1- 0
_ 51121 ”
cos” 0
)
1-sin“ 6
— [+ 1-sin?0=cos?0 ] Yo
cos“ 0
=1 Yo
.. L.H.S.=R.H.S 3
3. ,’Zﬂui'cwyjd/Q:341?&71;/AB;B'UL>LDLJ’£/B(4, _3) sl A(=1,7) 56
-érk‘otﬁéﬁLbi_/
b
_URR(3, 5)410(3, 0)P (0,4 )t LS S 56 APOR
Ans. :
A(-1,7), B(4,-3) 2:3
X1-Y1 Xo: Yo m my
Plxy) = m x, + MmyXx; ’ my, +myy,; .
m; +m, m, +m,
2(4)+3(-1) 2(-3)+3(7)
= , 1/2
2+3 2+3
8-3 -6+21
|75 7 s 7
5 15
3
P(x,y)=(13) Ya
b
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 20 |CCE PF & PR/NSR & NSPR |

Qn. Value Points Marks
Nos. allotted
P(0,4), Q(3, 0) R(3,5)
x1, Yy Xos Yo X3, X3
1
A=§[x1(y2—y3)+x2(y3—y1)+x3(y1—y2)] 1
1
=§[O(O—5)+3(5—4)+3(4—O)] Yo
1
= E[O(_5)+3(1)+3(4 )] Yo
1
= —[0+3+12] Yo
2
1
= — x15 3
2
15
A=? L 7'5 sq. units Y2

39 | (Mean) k56 (GG 23 du/ g @/}@JL’J’/! Z (Direct method) 3 2 &1

RS
Sy Iy
10 — 20 2
20 — 30 3
30 — 40 5
40 — 50 7
50 — 60 3

¢

g()‘”d/?/u"{ (mode)ﬁ/l{(fl"/.)Jﬁ/g‘duij@u

ﬁﬁu’lf Iyt
S5S— 15 3
15— 25 4
25— 35 8
35 —45 7
45 — 55 3

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 21 81-U
Qn. Value Points Marks
Nos. allotted

Ans. .
10-20 2 15 30
20-30 3 25 75
30-40 ) 35 175
40-50 7 45 315
50-60 3 55 165
N=20 D f;x; =760
— X
,-/V/), XZZfl L
N
_ 760
20
X =38
de"( 2
Lo Y
Jr 62 s Ya 3
b
eI L Ui
fo=%4 f,=8, f,=7,h=10 ul 1=25
TR DY [ N PO 1
2fi-Jfo 12
= 25+[——]x10 1,
2(8)-4-17
= 25+4] ] x 10 Ya
16-11
4 2
=25+—xA0 A
=
=25+8
s = 33 72 3
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 22 [CCE PF & PR/NSR & NSPR ]

Qn. Value Points Marks
Nos. allotted

40. JEugg;ld/uio)/@’/lQ/Lqué(medical check-up) élp (juf d/,»w 50 L sz oy
-’%&(ogive));?)lg“fj[L”iLJ!ﬂJ'~WC)J

o emidys P

OGS A)
Fe 140 >
Fe 145 10
Fe 150 1o
Fe 155 25
F= 160 *0
Fe 165 >0

Ans. :
Scale (<&)
y x-axis 1 em = 5 units
SOI y-axis 1 em = 5 units

54

3

gy
B
Q

0
4]

—— cumulative frequency (
[ =t | v] N W
Qo 4, ] (=] (4] o

4]

4 ! 4 g L L . >
O 140 145 150 155 160 165 x
(&‘1 ) upper limits —

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 23 81-U

Qn. Value Points Marks
Nos. allotted
l{.‘.;q 4 126 1
KUJIKLG; 1
3
Cloa2al 1
41 “-u,?(}n4l4ugwu(uytfi:ﬁfi/é_//bcﬁﬁﬁb”f%":&t‘
Ans. :

-u;zu’uigc; 'P LI(§ A PR PQ.c".'/ SE 1O o P Yy
—ebwPQ= PRI/t i
_zizforRs000P :\f

J% A POR JsI A POQ 125

Z/OQP=/ORP=90° [ OQ 1 PQ
{ ;)R LPR

OQ = OR [Hid | Y
OP= OP IS }

A OQP = AORP [RHS | Yo
PQ= PR [ CPCT |

_u:/ lgL;JCL{,é &/JJJ?”@J;U.?*C(J Iy
3

| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 24 |CCE PF & PR/NSR & NSPR |

Qn. Value Points Marks

Nos. allotted

49 c'_,ﬁJf/LJﬁ]ug{,,VG 8 cmc;'/(/[,gjb_’%l'f.o//bl{/jdﬂj 3 cm

LB SR WS

Ans. :

@) p

>

J.'.@.u(a//b C, L/jb.w 3 cm Yo
MJOP=80m Ya

JE (ot £ op 1
JF ol s
JE S pB i opa SV s 3

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




|CCE PF & PR/NSR & NSPR | 25 81-U
Qn. Value Points Marks
Nos. allotted

43 St 1in 14 em 100 S 21512156 cm® f(;u;wud,/’u(’w J¥ L
S 22y 2k 50 it
[ n= T2)1-Zps™(CSA)F AL o4”
Ans. :
V=2156 cm®
h=14 cm
r=7?
CSA =7
5(41;"& Tcrzh Yo
22
2156 = - r® x 142 Ya
1
2156
P
44
r? =49
r=4+49
r=7cm Yo
,}Mi/ o,gfd/;u?ﬂu = 2nrh Yy
22
= 2x = x7 x 14 Yo
=2 x22 x 14
=616 cm? 7
= cm 2 3
| PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)| [ Turn over




81-U 26 |CCE PF & PR/NSR & NSPR |

Qn. Value Points Marks
Nos. allotted
V. : Q/J’fu;’lrdj;'zw 4%x4=16
44. zf BREUT S A whibne (B APENYPLIS
x+2y==6
x+y= 35
Ans. :
Yy
7 Scale (,.,Ld.)
x-axis 1 em = 1 unit
6 y-axis 1 cm = 1 unit
© B =2 1 0 1 2 3 a s\eg *
602
-1 2&‘:-':.-
+, 6
_2 x =4 &\\e
y=1
-3
-4
y
x+2y==6
x 0 6
Yy 3 0
X+ry=5 SF e (1+1) 2
0 > (U‘/Iﬂlﬁ;él’pu;}» 1
5 0 < .
Jpg:«!ﬂ/uldio JL}J’} 1 4

[PF/PR/NSR&NSPR-(C)-(700)-21018 (MA)]




81-U

|CCE PF & PR/NSR & NSPR | 27
Qn. Value Points Marks
Nos. allotted

45. | @M L2 e 30° N oK egf 6’34./ S & (L) e s u/:- (ﬁ Z
i/d‘ ..«g!/'/lu]uu&m:ul.f-‘a60°C@/l:ulj l{z_/d4)l£/)VL(ﬁ£ (.fﬂ)
-éf)’”dkf}ld/(jﬂ)o/u;n 50 m/ldtf;ld/nbﬂun;/?uf]
C A
A
50 m
o
5
60 30 A
B D
b
30°g§ﬂ§%¢?;)l)gu’)l{zd/ﬂuc,¢»{JJ?Q&U@U{,G&?H&?S mc'_,/,cf“i/
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